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Limites « d’une fonction  »



TITRE

CORRECTION

9LIMITES EN UN RÉEL " a "

Calculons la limite de  en a = 0: 

Ici:   (   ) = 2   2
 + 3   + 5,   pour tout   .

Distinguons deux cas: 

1 er cas:  quand x tend vers 0-

  lim 
x g 0-

 f ( x ) =   lim 
x g 0-

 2  x 2

x
 + 3 x + 5

=   lim 
x g 0-

 

2  x 
x

 + 3 x + 5

=   lim 
x g 0-

 - 2 x
x

 + 3 x + 5  (     = -     car     < 0 )

=   lim 
x g 0-

 - 2 + 3 x + 5

=   lim 
x g 0-

 3 x + 3

= 3.
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2 e cas:  quand x tend vers 0 +

  lim 
x g 0 +

 f ( x ) =   lim 
x g 0 +

 2  x 2

x
 + 3 x + 5

=   lim 
x g 0 +

 

2  x 
x

 + 3 x + 5

=   lim 
x g 0 +

 

2 x
x

 + 3 x + 5  (     =    car     > 0 )

=   lim 
x g 0 +

 2 + 3 x + 5

=   lim 
x g 0 +

 3 x + 7

= 7.

En conclusion:  •   lim 
 g 0-

 
 (   ) = 3

•   lim 
 g 0 +

 
 (   ) = 7.Fr
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